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NEW QUESTION 1
Which three technologies are used in an SD-Access Fabric? (Choose three.)

A. MPLS

B. TrustSec
C. VXLAN
D.OTV

E. LISP

F. RSVP

Answer: ACE

NEW QUESTION 2
Which are three Cisco recommendations on “How to Win"? (Choose three.)

A. Talk about Cisco’s focus on Security and integration with StealthWatch, Sourcefire, WSA, vulnerability scanner to make smarter policy decisions.
B. Explain support for 3rdparty network devices.

C. Explain architectural advantage of holistic Cisco solution.

D. Demonstrate complex policy flows, rather show case Wizards and enhanced context visibility.

E. Show case Cisco portfolio or ISE feature set during PoC

Answer: ACE

NEW QUESTION 3
What is the maximum # of concurrent endpoint with a distributed deployment?

A. 500,000
B. 20,000
C. 10,000
D. 100,000

Answer: A

NEW QUESTION 4
Which three services must be enabled under the ISE Admin settings to successfully integrate ISE, when integrating ISE with DNA-C? (Choose three.)

A. SXP services

B. ServiceNow

C. Threat- Centric NAC

D. Infoblox

E. PxGrid

F. Passive Identity Service

Answer: AEF

NEW QUESTION 5
What definition is not part of 4D Training?

A. Demo
B. Discover
C. Deploy
D. Defend
E. Design

Answer: D

NEW QUESTION 6
Which are three Cisco ISE use cases? (Choose three.)

A. BYOD

B. Assurance

C. Monitoring

D. Security Incident and Event Management
E. Access Control

F. Segmentation

Answer: AEF

NEW QUESTION 7

Which two options are SD-WAN solution capabilities? (Choose two.)

A. Ability to provide and integrate security with complementary products and applications

B. The separation of management plane, control plane and data plane to enable horizontal scaling

C. Truck roll branch turn up for easy provisioning and new installations
D. Cloud hosted or on-Premise fully redundant management and control plane functions
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Answer: BD

NEW QUESTION 8
Which two options are used as part of an ISE POV? (Choose two.)

A. Youtube

B. CiscoTV

C. dCloud

D. POV Kit

E. Implementation on Production Network

Answer: CD

NEW QUESTION 9
Device Sensor provides which two types of information to ISE? (Choose two.)

A. DHCP

B. Encrypted traffic
C. User/Device Name
D. CDP

E. NetFlow

Answer: AD

NEW QUESTION 10
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